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and that of the last S numbers is 32.4, then what is the average of the

remaining numbers?

16 TEITIT BT TTET 24.5 T TS TAT 6 GEATHL hT 3T 20.5 T R 3ifaw 5
TEATITN <R A 32.4 B, aF I HEATAT T aa fehanT 82

a) 21.4
b) 22.4
c) 21.8
d) 20.2
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A piggy bank contains %1 coins, ¥2 coins and %5 coins in the ratio of 5: 9 : . If

the total amount in the piggy bank is 860, how many %5 coins are there?

T ToeToh B 1 50 o frarh, 2 508 o fareh SR S Tua sh @R 5:9: 4%
FTUTA § §l AT TTeTeh H Her TATIT 860 TUA §, AT 5 HUA o feha T ¥rarh 87

a) 60
b) 50
c) 80
d) 90
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Due to some damage, Nitin sells a woolen jacket at 10% below the cost price.
If he could sell it for 500 more, he would make a profit of 15%. What is the

cost price of the jacket?

forelt T o ST, FATae TR St Siehe Rt ohdl 7 | 10% W 0 SraT 2l

afe a8 3 500 TUY 3Tferek H S ARl &, a7 IH 15% hT ATH BRIT| HAehe hT ha
e TeRaT 82

a) 3,333
b) 2,000
) 2,500
d) %5,000
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A's salary is 10% less than B's salary. B's salary is 25% less than C's salary.

By how much percentage approximately, is C's salary more than A's salary?

A T I, B & Id9 § 10% W 81 B &1 da, C & Ia9 & 25% T gl C & I,
A o IaT W ST Tehd TfdvTa 31feres 82

a) 48%
b) 33%
c) 90%
d) 65%
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If the length and the breadth of a rectangle are doubled, then its perimeter

will become:

T SATET? afeT Rt

a) four times
b) half

EEn c) thrice
o) d) twice
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If the area of a rectangle with dimensions 18 m x 50 m is the same as that of a

square, then what is the length of the side of the square?
IfE 18 WX x 50 HieX ForaTe STt Ueh 7T hT ST Ueh a1 oh 10T h
TSR, AT A hl qAT hl a8 foha-1 82

a) 34m
b) 17.5m
c) 15m
d) 30m
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Two successive discounts of 12% and 10% are given on an item. If the

marked price of the item is 3,500, then the selling price of the item is:

Tk o6 W 12% 3R 10% AT 3T Shiveh B aF SATdT gl ATS 9% o SiTohd 7o

3,500 TUA 7, AY ] T forshar He TRt 32

a) 2,650
b) 2,652
) 2,772
d) 2,770
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Let x and y be the LCM and HCF of 165, 297 and 495, respectively. What is

the value of x/y ?

AT AT 165, 297 AR 495 & TTHAH THTIA AR HEWH AHTTSIh HAI: X
My Bl x/y T AT AT 2

)
b) 55

é\ E@ /\3 c) 45
N Q) 15
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The average of the resultant of three times of A and four times of B is 17. |
Also, the average of the resultant of four times of A and three times of B is 18.
The sum of A and B is:

A o T TAT SR B o TR AT o TRUTTHT 6T $7HEa 17 81 AT &, A o =R AT
3R B o T AT o UIROTTHT ST 36 18 Bl A 371 B 3T AT fohe AT 872

a) 15
b) 16
c) 12
d) 10




SSC GD 2022-23

At what rate percentage per annum (p.a.). will a sum of money double in 8 1/3

years simple interest?

forer =X aferorar Sfcrerd oX h1E WeTer ATeRoT AT WX 8 1/3 6T | ST & ATEm?

a) 8.5% p.a.
b) 12% p.a.

(Z .—-'I—D > c) 7% p.a.
//\Q 2. d) 8% p.a.
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